il

g
=
s
i

1. ¥¥4
B4 TN 7 AEEE R 2 M X S0 S i e 2
JBA T Ve RO 5 BT RS I 26 T M a4

2. EBEAR
1) FEF4 FEEEEEBT S R
365 H H &f1 74 44 1H

2) JE1THIR
£ ofn 8% 3H3LH

3) EXEIEEA
AR, EE4 9 7T BREEAN I C~F TR I CRIBLIVOEE3 55

REEHT (BRI (R W T, YIEROBREBIN 21T 5 ¥B Th 5,

4) FEHBNA
BE TEERRILR) D LBY

E+sZi@E SN



PR NER =

Tl
P

WA | DT EETEN S KA E K R B S S E B FRA
HH —fxFRAE
THH - T - R A7 B & & KA OB ORR
— A EY 1 20, 001, 830
EHETRAL F2V 1 19, 582, 759
Hid~ Y FHE = 1 8,989, 739 | BEIZEHA

48 &R -
HIFRAZEE (AFD) B
42 &R -
KNG (BFE) +3m A —4—

T A —f EE

>
=
I

2 E H =

6 &7
T B ALER
44 AT - A
77 v 7 FHA
11 AT - (8]
BENEE - L0 FEL®
1 X
WY A (BE) 2V 1 5,582,100 | 7 — X 4% - FHL
12 A
EFET — X ORERR
12 A
HERFEER
3 [A]
Bl = 1 357,000 | ERERINO. O
1 =
EENO. 29
1 =
R 1 [
1 =
Hirg~= ) i A 1 4,453,920 | TE B
76 fE AT - [

-1- E+sZi@E SN



==
=]

m
2
%

¥4 | BT S HIXSSE K s B2 E B FRA
H H — R
THH - T - R A7 % & & KA OB ORR
75wy A=
32 T - [\
Ty 2 1 200, 000 | FEFpRAIERE
1 =X
EiEE ey 2y 1 419, 071
TRE RS m 2y 1 419,071 | fr#e (FitLE - 1581A%8)
1 =X
EAETA -+ A 2y 1 20, 001, 830
il = 1 12, 368, 170
At E2V 1 12, 368, 170
— A =X 1 32, 370, 000
fRdT TR = 1 1, 064, 068
EHEEGE = 1 1, 064, 068
B e NV = 1 1,064, 068 | #4114
1 =
BiStii} = 1 299, 600
Bisii] = 1 299, 600
e = 1 299,600 | ¥TAE
1 =
EREEM (ZOMEmER<) = 1 1, 363, 668
Z O FA = 1 734, 034

-2 - E+sZi@E SN



FEH N

ull
P

WA | DT EETEN S KA E K R B S S E A
H H — B
THH - T - fER] A7 ¥ = & % OB ORR
— R R = 1 1,122, 298
M SR A s 2y 1 3, 220, 000
RS SE MR 2y 1 35, 590, 000
— 3 —

E+sZi@E SN



